
 

 

 

 

 

 

 

 

SUGGESTED SOLUTIONS 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

KE 5 –  Commercial Insight for Management 
 

 2019 

 

 

All Rights Reserved 



 

Suggested Solutions 
KE5- September 2019  Page 2 of 15 

 

1
01

 
 

1.1 
 

 
1.2 
 

 
1.3 
 

 
1.4 
 

 
 
1.5 
 

 
1.6 
 

 
 
1.7 
 

 
 
 

: 1.4.1 
23 

:         D 

: 2.4.1 
72   

:    A 

:   3.5.1 
105  

:    B 

: 2.9.1 

151 

:    C 

: 3.11.1 
191 

:       D 

: 3.12.1 
245 

:    A 

:    4.7.1 
   349 

:        B 



 

Suggested Solutions 
KE5- September 2019  Page 3 of 15 

 

1.8 
 

 
1.9 
 

 
 
1.10 
 

 
(2 x 10 = 20) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

: 4.9.1 
288 

:    A

: 6.11.1 
519 

:    :     C 

:    6.16.1 
639 

:    D 



 

Suggested Solutions 
KE5- September 2019  Page 4 of 15 

 

 02 
 

2.1 

 
2.2 
 

 
2.3 
 

 

 

 

 

 

 

 

 

 

 

:   1.2.1 

15 

 

 

 

:   2.1.2 

83 

 

:   2.6.2 
95 

 

.  
 

  –
. 

 
  – ( ) 

( )  



 

Suggested Solutions 
KE5- September 2019  Page 5 of 15 

 

2.4 

 
2.5 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

:  3.3.2 

211 

(i)   
 

 

(ii) :  
   (

)  

    

 

 

 

 (hospitality)

  

:  3.4.1 

125 
 
 
(a) 

 

(b) 

.   
 

 



 

Suggested Solutions 
KE5- September 2019  Page 6 of 15 

 

2.6 
 

 
 
2.7 

 

2.8 
 

 

 
 
 
 
 
 
 
 

: 4.1.1 

265 

 

 

(BCP)
 

 

 

: 4.5.3 

342 

 

 

 

 
 

: 4.6.2 
334 

 

  (

) 
 

 

 

. 

 



 

Suggested Solutions 
KE5- September 2019  Page 7 of 15 

 

2.9 
 

 
 
 
2.10 
 

  
 
 
 
 
 
 
 
 

 

:  5.1.1 
364 

 

  
 

 change)  
 

 

 

 

 

 
 

:  6.4.1 

464 
 

.  
 

 – 

 

 - 

. 

 –
. 

 

  ( )- 

. 
  



 

Suggested Solutions 
KE5- September 2019  Page 8 of 15 

 

2
03

 

 

(a) 

 

(i) 
 
 

. 
 

.  
 

 
 

 
 

.  
 

(ii) 

 
 

 

 
 

 

(b)  
 

 

 

 –
 –

   
 

(c) 

 

 

 

 

 

 

 

 

 ( 10) 

:   4.4  

 322/329/324  



 

Suggested Solutions 
KE5- September 2019  Page 9 of 15 

 

04
 
 

 
(a) 

,  
 

 

 

 
(b) : 

 

 

 

 

 

 

 

  
 

 ( )

( )

 

 

 

 

 

 

 
 (   10) 

 
 
 
 
 
 
 
 
 
 

:  5.4/5.5 

 



 

Suggested Solutions 
KE5- September 2019  Page 10 of 15 

 

05 

 
(a)  
  

1 9 9 - 

2 10.5 21 12 

3 10.67 32 11 

4 10.5 42 10 

5 10.2 51 9 

   
(b)  
 
 

 
 
                                                       
 
 
 
 
 
 
                                                                                   

 
 
 
                                                                              
  
 
 
 
 
 
                                                                                   
                             
 
 
 

  

 .   

 

.  
 

 

: 6.7.1/6.7.2/3.12.1 

 



 

Suggested Solutions 
KE5- September 2019  Page 11 of 15 

 

(c)  

  
  

 

 

(TR) (TC) Q*   
 

; 

MR= MC 

TR MR  TC 

MC .  

; 

 

    

 
 

                                                             TR=MR 

 
 
 
          TC=MC 
 
 
 

               

( 10) 

 
 

 

TC 

TR 

A 

B 

Q* 
0 



 

Suggested Solutions 
KE5- September 2019  Page 12 of 15 

 

06 
 

  
 

 

 

 

   
 

(b)  
 

 

 

 (virtual) 

 

 

   
(c) ( )

 

 

 

( 10) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

: 6.12 
585/587/595 



 

Suggested Solutions 
KE5- September 2019  Page 13 of 15 

 

3
07

 

 

(a)  

 Y 

 

 

 

 

 

 

 

 

(b) 

(i)   , Qd = Qs    
 200-4P = -160 P +8 P 
 P = 30  

Y 30.00        
  

Qd = 200 -4 P 
 = 200- 4(30) 
 = 80 

80  
(ii)   

:  
 Q/   P * P/Q     

 = -16/4 * 30/80 
 = - 1.5         
(c) 
  Y$ 25 
 Qd = 200-4P 
 Qd= 100      
 
 Y$ 25  
 Qs = -160 +8 (25) 

Qs = 40           
 

 = 100-40 = 60                                                                     
 = 60*25 = Y$ 1,500    

 

 

 

: 3.5/3.6/3.7/3.8 
137/139/202/178 



 

Suggested Solutions 
KE5- September 2019  Page 14 of 15 

 

 

(d) (i) 

 

 $ $      

Qs=  - 160+ 8 (40)     

Qs=  160            

Qd= 200- 4( 40)  

Qd= 40             

 160- 40 = 120  
 

:  120 * 40 = Y$  4,800      

(ii) 

  

 

 

 (e) 

 (i)  

 

 

 

 

(ii)    

 

 

 

 

 

( 20) 
 
 
 
 
 
 
 
 
 
 
 
 



 

Suggested Solutions 
KE5- September 2019  Page 15 of 15 

 

 
 

 

“ ”

“ ” suggested 

solution

²

 

  KE5-Commercial Insight for Management:                                 Executive Level Examination                                     2019 


